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ORGANIC CHEMISTRY, CH-203
| Paper: X

Time : Three hours] [ Maximum Marks : 29
Before answering the question, candidates should ensure that they
have been supplied the. correct and complete question paper. No -
complaint in this regard, will be entertained after examination.
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‘Note : Attempt five questions in .all, selecting one
question from each Section. Question No. 1 is
7 compulsory ,
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‘1. (a) Which bond cleavage takes place in alcohol_. :
during ‘the reaction of alcohol with Thionyl
chloride. Show it by writing reaction.
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- (b) Wnte the reaction in between ethylene glycol and -
propanone in slight acidic medium.
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() Name and write the reaction of phenol in which
dichlorocarbene is required as electrophile.
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“{d) Name the type of electmmc transition/s whlch'
requires energy in between c to o* and n to m*°
transitions.
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. '(e) Write reaction ef ethene with Cl, / HzO. 1x5=5"
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2. (a) What will happ’enwrhen:‘ ‘ 4,2
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() Methanal reacts with CH,MgBr followed by
hydrolysis. ’
SR & gRT wiel 53 CHSMgBr,-
FAT B A RYFe T B

| (ii) Ethanamide reacts with Br, / KOH followed

by reaction with Ag.HNO..
AgHNO, & | Y& & gRT wie fad
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(ii‘i)' 1-Chloropropane reacts wi't}i Ale, KOH
followed by reaction with H O/H".
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(iv) Ethanol reacts with RMgX.
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(b) Do the following conversions :-
=1 Baoid @1 BRI -
(i) Acetaldehyde into propan-2-ol -
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V(ii) Ethylene glycol into iodoethane. | }
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/3. (a) Explain the mechanism of the following : 4,2
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(i) Base'catalysed ring opening of epoxide,
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(11) Esterification reaction.
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(b) Explain the ac1d1ty order among the 1° 2°, 3%
- alcohol.
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4. (a) How canyou prepare? ' | 4,2
6] Pheﬁol from Cumene,
g ¥ Rl
(ii) ,Phenyi benzoatler from phenol, g
fidfer % Bgel aie,
(iii) Saliéylicr acid ﬁoﬁ chlorobénzené, |
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(iv). Anisole from phenol.
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What will happen when
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(i) Phenol reacts with benzenediazoniumv ‘

chloride at pH9-10.
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(ii) Phenol undergo Kolbe's reacﬁoh.
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Explain the mecharﬁsm of the following : 4,2
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(1) | Reimer-Tiemann reaction
(ii) Kolbe's reaction -
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Explain the acidify order among the following :

p-chlorophenol, p-nitrophenol.
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6. (a) Explain Woodward-Fieser .rules for a, B
unsaturated ketones by taking four suitable
example. . 4,2
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(b) Explain the fallowing
(i) Beer's 1aw, _
(i) Lambert's law. -
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7 »(a)  Which electronic ’transitions will occur . in -
fellowing(with reasoning) : . 4,2
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(i) Ethane, -
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(ii) Acetylene,
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“(iii) Oxygen,
(iv) Ethanal.
T (b)  Define the f‘olIoWing Withanexmpk Lo
N
. (i) Auxochromes, | :
(ii) Red shift.
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. (a) Explain thé mechanism of the followin‘g": ., 4,2

i) Hydrolysxs of Ethylacetate in acidic medlum, :
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| BRI,
(ii) Hydrolysis of Ethylacetate in basic medium.
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(b) Explain the mechanism of reaction of Ethanoic

acid with NaOH/CaO, Heat.
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9. (a) What happens when Benzoic acid reacts with : 4, 2
@ g‘ﬁn 7 o é?rﬁs"cﬁ wRis @ e Rge
(i) NaOH/CaO, Heat

(i) Br,/ AlBr, (Anhyd.)
| (iii) Conc. HNO /conc. H,50,

(v NH followed by reachon with PZOS # Heat.
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(b) Do the folloWing convérsions :
fort rast B AR -
(i) Bénzamide into Aniline,
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(ii) Benzoylchloride into Benzaldehyde
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